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: erford s stamic model need o be repiaced?

Compare aial and akaine sath metais wi reference o ther 10catan  penndi tadle
Which rule & followsd by Oxypen and Helum 1 compiete thei valence shel and why they 40 57
W the heip of dot croms structure show the formation of CH, and N,
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The tamperatue 3 aec 10 52°C Caiculate ew volume of Hewm 3
Identy the types of sokion 1 the following exampies

) Acohol in Water

(5  Stering Siver

() Meroury Amaigam

(™) Hydrogen gas absorbed af Paladum

What molarty fo KNO, needed to make from 2 molly sokution from 0 1 motar in S00m.
Write chemical reaction for ionzation of Brne. Alsc wite overall reaction when slecirodes
8 connected i batiery in Neison's Cell

Q10 Explain the chemical reaction of slectroplatng oom
Q11 (0 Wrie any hwo uses of Goid Aoy ,g.‘
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Q12 W Findout
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(d)  What s the role of slectronegativty in the formation of bonos?
Q14 (a) Caulate the rtal proseure of 8 sample of gas hat & changed fom 7 56dn 10

Q5 (0) What's e purmoss of sodium vepour amp #nd oesuiphurization?
(o) What are Byee man components of dry osl?
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Group & known a8 Boron family in penodic table? Wrte the names of
slaments present i this group”?
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food is digested ‘M
® Glucose {0y -

NN o \Warks: 12
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® Mitoses (1) N O Melosis- . O Anaphase-|
IW enzymes, chemical reactions proceed at a:
G rate ' Slower rate
. Constant rate ® Medium rate
If the reactants of chemical reactions are ATP+H20 — ... then
the products will be;
. AMP+Pi+7 3Kcal @ ADP+Pi+7.3Kcal
J ATP+Pi+7.3Kcal "V ADP+7 3Kcal
Very intense light is:
_ Useful for chlorophyli @ Increase photosynthesis
_ Damages chlorophyll " Help chlorophyll formation
Which of the given vitamin is needed for the growth and repair
of body tissues? AR
Vitamin A Vitamin 8 @ Vitamin C_. () SiRagileD) " -
Lungs are responsible for addif WM";' the deoxygenated
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logy () Anatomy . Histology " Physiology
Colecteddataisanalvxedbyuﬂm; .

O Biological method @ Statistical method

() Mathematical method ) Ecological method

Which of the given is an example of Protista?

O Penicillium (O Mosses ) Smut ® Euglena
Mathias Schleiden claimed that:

O Nucleus is spherical body in plant cell

) All plants are made up of cells

.. Glycogen
 given phase, neurons cells remain for indefinite

12) In whiiS
time?

G 1-Phase (G 2-Phase @ GO-Phase _ S-Phase
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Answer
M in 4 moles of Potassium and 3 moles oaf Magnesium?
s atomic model need o be replaced?
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Compare alkall and
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\With the heip of ot cross structure show the formation of CH and Nel
Amdmm.mmwmdo'cmwmmmm’.
“The lemperatureis raised to 52°C. Calulate new volume of Hellm. P
Identiy the types of solution in the folowing exampies

() Alcoholin Water -

()  Stering Silver

(i)~ Mercury Amaigam

(V)  Hydrogen gas absorbed at Palladium
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are connecied 12 batiery in Neison's Cell
Explain the chemical reaction of electropiating. 0077
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(@)

elements present in this group?
(b) _mmmmmmhmmmmnw (4)
Q4 (a) mmmmdawdgumumwmr.m'w (3)
14,3dm’ at 300 mm of Hg. > -
() Diferentiate between saturated and super saturated solution with the help of  (4)
Q.15 (a) Whatis the purpose of sodium vapour lamp and desuiphurization? (3)

(b) What are three main components of dry cell? )



